
1)  You have flower that is 8 inches tall.  It grows 5   inches.  How tall is it now? Gold E





A.  


B.     


C.  


D.  





7)  Name point C.  Purple  C











A.  2, 5





B.  4, 2





C.  5, 2





D.   Harry Potter





ANSWERS





1)  





2)  





3)  





4)  





5)  





6)  





7)





8)  





2)  In the number below, which place has the largest digit?  Red D


			907.807


F.  Hundreds


G.  Hundredths


H.  Tenths


J.   Thousandths





3)  What are all of the common factors of 8 and 36?  Cherry C


		


A. 1, 2, 3, 4, 6, 8, 9, 12, 18


B.  4


C.  1, 4


D.  1, 2, 4


  





4)   A movie theater has 608 seats.  There are 32 seats per row.  How many rows are there?  Yellow D





F.  19,456


G.  19


H.  640


 J.  576





5)  What metric unit would be best to measure the length of a soccer field?  Purple B


			


yards


millimeters


meters


kilometers
























































6) Which fraction is smaller than    ?  Prove. 


Green A





F.  


G.  


H.


 J.























8)  Drew had $107.  He spent $38 on shoes and $12 on a shirt.  How much money does he have now?  








F.  $157


G.  $157


H.  $50


J.   $69








Name______________________________  Date_______________
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













































































